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' and Perpendicular Lines

- Goal Write equations of parallel and perpendicular lines.
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@ Checkpoint Complete the following exercises.

1. Write an equation of the line that through ) X
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Line b: The equation is in slope-intercept form.
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2. Determine which of the following lines, if any, are
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Find the slopes of the lines. Write the equations in
slope-intercept form.
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3. Determine whether line a through (1, 3) and (3, 4) is M= ‘]z =Y
perpendicular to line b through (1, —3) and (2, =5). bx = X2 - ey
Justify your answer using slopes.
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